5
In curvilinear coordinates ql,..., qnvthe Schrodinger

equation has the form (1).
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where H is the Hamiltonian operator, e the totaleergy, and ¥ the

1
wvave function of the entire system.

n
R o= 4% S 13 #t3 Ly (2
2 s,t=1 gt g8 Bqt

The qs are generalized coordinates, and U is the potential energy; gSt
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is a contravariant tensor conjugate to the metric tensor gt appearing

in the line element ds in mass-weighted space § g is the determinant

of the Egt,
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where xi is a Cartesian coordinate of an atom of mass mi; the coordinates

of the k'th atom are given by 1 = 3k, 3k + 1, 3k + 2 ., Both gg and

gSt are symmetric tensors,




